= 0.2 —
g o A o
= E : ) o
AOQLSE---emee i e L
=3 F : o r
R S o N s A
AL R : v ok
0.05f -+ vermsiereeeenees Bronreeessd 0.05f -+ -ofrriersersse b
Rt AR R R O Rt R L R
11| SRR ST PR ST 1 01| SERRRR PO SPRPRPRE SR SRR NS
SO B U T, S Sl SETETITTET PPN
—0.15fwwrr i R =0.5f - werp i
o0 abd vl vl cvd o gaE el vl vl
= E T : k= [
O 2y 12 r :
E ] A
[ A R R RREEE [
C:71 I .2 3 C-71 ; :2 3
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPlpoT (PCA t%obeamliné[f)

—=— DQM_original_step2__ptOpltol_eta2p6to4p0
—e— DQM_mkFit_step2__ptOpltol_eta2p6to4p0
—— DQM_pixelCPETemplate_step2_ ptOpltol_eta2p6to4p0

g 100 — 100

=] S T - S S . S—
e L PSPPI SR S e) RS O SO N
O a0 v a0k TR SO SO
20 - e e 70| SRRSO 8 JOE S
o M SN < TSRO O N
Yo RO 111 SO SO o) NS S SO
1 TR e ST USO8 R SOOI S
—60E---- H R S —eo:— ------ H R S
-80F----{F S Sk S —80:— ----- O

107 1

B5e
JiN

1 1

2 3
TPl[g)T (PCA f%)obeamlinép

........................................

.......................................

< > (Y
o p,/p, > (%)
O = N W N O

.......................................

—1 I I : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


